
*rl^l i, n

?^Ll'* zt)
(a)

cot

7pl; fat

tt+¡--lLJ (C,'*r'co") (6^'r- i/t^É )ì = C!r.^*t* ¿!ø:*t

lb)

t---'-ì

?ta""4c,'ç"

gr-,, r1 fl¿ f',.a tuA*f v¿t'rt¿

= *2"'u -t* *4'a,^t=2."h^t
ç)

>i

-!Ë^i!

BoA ¡nr,tvt't !V"'o^J -¡írZ!

J1ÃAIL e,-Ã^14 elr-ur,,.¡^ . 11^;

I* Ã an^" *bhr¿ ao,"Je^-

ctrcbA)r¿- tô,'lt^ ra¡ah. UrtoQ A.

goIA t/e"]r',^ *1' ^rt*t-i*ð! w

clocl¿¿ntk.1ú- ttu^ Ê olS.

Clo*L, ,'J- a¿ ¡'l{^ ß^N^ úelo t\ -,'c

qu 
)4

{

.2t

\ e r
I

: -*--*/

TL*
^  t  -  ¡ )

/I",-*,< A o-¿ ß 6¿'vtt¿tV Pu
l l l  f '  t  t  ,*o a çl,u,ch"ø ( 6-.-17*

*ût* þ'**-^t('- "{H^- ** 4,- L-yU tit*tËl , ui,ø t¿* r",;",,

"U- oxL A,-t -{"att" tit- tFt . Tt^t t/øÁT.,, i *i â *u ,nø,}- &P<

g- ,¿ ilß f,,'ì al*.î /¿c-["-ø

= *ð"'¿; -t + L.1o u *t =t A,; -t

I ì ,
L i

Sa*,- t/"")rrrt i¿"f, n&-- *f 1' "-,Å 
ã! ; U*r-6^- ítu Tnb¿/r,r,a tl^a A4',* eJl

Mansuripur
Text Box
Problem 30)




